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Volume of Cylinders &) ghay) ana

Find the volume of the cylinder. Round to the 5 cm Bydis (v o 3 8l J) A sha sl e gl
nearest tenth. -

8.3cm

a. 41.5cm3

b. 130.4cm3
c. 651.9cm3
d. 41.5cm
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Volume of Cylinders &) ghay) ana

Find the volume of a cylinder with a diameter of 16 20 Lo Lasylg [Fieslice 16 Layhad &l ghas| g uag
centimeters and a height of 20 centimeters. Round Byl Cpa 5 3 u)éi J) izd s
to the nearest tenth. C o )

a. 4021.2cm3
b. 16085.0 cm3
c. 320cm3

d. 4021.2 cm

Page 660 — Ex2



Volume of Cylinders &) ghay) ana

Find the volume of the cylinder. Round to the Bydis (v o 3 8l J) A sha sl e gl
nearest tenth. .
3in.
e

E _____ \ 1.8 in.

a. 50.9in
b. 17.0in3
c. 5.4in3
d. 50.9in3

Page 660 —a l




Volume of Cone by Aall ana

Find the volume of the cone. Round to the nearest 6em  Fyde (pe e o o8l Jl iy bog il e usl
tenth.
3cm

7\
a. 169.6 cm?
b. 56.5cm?3
c. 339.3cm?
d. 18 cm?

Page 668 — Ex1



Volume of Cone by Aall ana

Find the volume of the cone. Round to the nearest 7m Bpde e oyl ) o8 bog sl e ual
tenth.

2m

N

a. 29.3m?3
b. 88.0m3
c. 44.0m3
d. 14 m?

Page 668 —a l




Volume of Cone

Find the volume of the cone.

Round to the nearest tenth.

a. 11762.1 mm3

b. 1960.4 mm3

c. 326.7 mm3

d. 3920.7 mm3

Page 668 — b
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Volume of Sphere 5Sl) ana

Find the volume of the sphere. Round to the nearest Bydis (v o 3 8l J) A sha sl e gl

tenth.

a. 678.6cm3
b. 904.8 cm3
c. 18.8cm3

d. 150.8 cm3

Page 676 — Ex1 l




Volume of Sphere 5_Sl) ana

A spherical giant balloon has a diameter of about 8 liel 8 Lo yas golun Laylad JSAI1 49,8 5 S a5y

meters. Find the volume of the spherical balloon. By oo £ o _.v_gj Jl .31-33)5-“ Wglld! s o]
Round to the nearest tenth.

a. 1608.5 m3
b. 201.1m3
c. 268.1m?3
d. 21447 m3

Page 676 — Ex2



Surface Area of Cylinder 4 ) paw Aalia

Find the surface area of the cylinder. Round to @ e 32 Bl J) 8 &l shadl mlas Ao Liss u g
the nearest tenth Bydis po
7m
"- -~

a. 88.0m?

b. 25.1m?

c. 113.1m?

d. 44.0 m?

Page 691 — Ex1 l




Surface Area of Cylinder 4 ) paw Aalia

Find the surface area of the cylinder. Round to 9 ft e 32 Bl J) 8 &l shadl mlas Ao Liss u g
the nearest tenth ’, Bydis po
I
|
3ft }
a. 226.2ft2
b. 169.6 ft2
c. 84.8ft2
d. 395.8 ft2

Page 691 —-a l




Surface Area of Cylinder

Find the surface area of the cylinder. Round to
the nearest tenth

a. 439.8 cm?
b. 747.7 cm?
c. 307.9cm?
d. 219.9 cm?

<+—14CM —

10 cm

Page 691-b
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Surface Area of Cylinder 4 ghuy) phaw dalua

A circular fence that is 2 meters high is to be built Js> 05Lad| ek O Ay (e delas,l o ¢yl 7zl
around the outside of a carousel. The distance from Wl> JI Zt:.LwJUSJA oo ALl .@Lé:)‘ oo i dslu

the center of the carousel to the edge of the fence . . ) " .
will be 12 meters. What is the area of the fencing WM zleadl Bols Aol b W[le 12 095w g beud!

material that is needed to make the fence around JUFES Y z beud! LY
the carousel?

a. 528 cm?
b. 1056 cm?
c. 75 cm?

d. 151 cm?

Page 691 — Ex2



Surface Area of Cylinder 4 ghuy) phaw dalua

Find the area of the label of a can of tuna with a & ladliow 5.1 Layhad Caas Aig5 dde Fyals doluw ool

radius of 5.1 centimeters and a height of 2.9 Bydis Cya £ 3 eﬁi J) Al ) . feline 2.9 Lty g
centimeters. Round to the nearest tenth.

a. 256.4 cm?
b. 92.9 cm?
c. 46.5cm?

d. 14.8cm?

Page 691 —c



Surface Area of Cone b 9 a4l o dalw

Find the lateral area of the cone. Round to the e 3o caydl J) iy ogyseeld dutiloet) A Lud | us ol
nearest tenth Bmm Bydis po
5mm
T
a. 340.3 mm?
b. 204.2 mm?

c. 78.5 mm?

d. 157.1 mm?

Page 702 — Ex1



Surface Area of Cone b 9 a4l o Aol

Find the lateral area of a cone with a radius of 4 4 ohd ias ae byl wslxtl Bl asgl

centimeters and a slant height of 9.5 centimeters. ¢ 3o eﬁi J) w33 o faskies 9.5 S5l de s, g o o
Round to the nearest tenth. L.
Oyl (90

a. 477.5 cm?
b. 159.2 cm?
c. 119.4cm?

d. 955.0 cm?

Page 702 -a



Surface Area of Cone b 9 a4l o dalw

Find the surface area of the cone. Round to the . e 32 Bl Jl ind  dog il alas Ao Lis u g
nearest tenth. e Bydus (o
6cm
L
a. 230.0cm?
b. 116.9 cm?
c. 113.1cm?
d. 233.8cm?

Page 703 — Ex2



Surface Area of Cone b 9 a4l o dalw

Find the surface area of the cone. Round to the e 32 i ydl Jl ind  Jog il alas Ao lis u g
nearest tenth. Bydis po

4.5 mm

‘ 20 mm

a. 90cm?

b. 282.7 cm?
c. 36.6 cm?
d. 346.4 cm?

Page 703 —c¢ l




Changes in Dimensions Nay) <l s

The surface area of a rectangular prism is 78 square Flasliw 78 $9lud suelall Judatuwe yo-diid losid! dluwe

centimeters. What is the surface area of a similar 3 sslani J‘}Tai C‘L'S dsldinn 9l mbaadl A luna Lo Lasge
prism with dimensions that are 3 times as great as ) o Lt il slasi s " i
the dimensions of the original prism? FEHeslas SH

a. 702 cm?
b. 234 cm?
c. 2106 cm?
d. 78 cm?

Page 712 — Ex1



Changes in Dimensions Nay) <l s

The surface area of a triangular prism is 34 square L . Bo e Fleliow 34 golud (M g4l rowd| d> Lue

centimeters. What is the surface area of a similar Cilas] 3 sslal J|5Jaié.hs¢t.aL&m) 2l e ol s s
prism with dimensions that are 3 times as great as ) C c 1 s il sla]
S b yoddd | slan

the original prism?

a. 918 cm?
b. 102 cm?
c. 306 cm?
d. 34cm?

Page 712 -a



Probability of Simple Events dasud) Eaaly) £ g8 g Jladal

Find the probability of rolling a 2, 3, or 4 on e 4913 912 e slae¥ CaSa i85 Jloio| i
the number cube. ELESER
a. 1

2
b. 1

3
c. 1

6
d. 2

3

Page 735 — Ex2



dasud) Eaaly) £ g8 g Jladal

By Bya sl (e 501 5l9dl o il 3905 03
5| PNEN ..L?gi

P(F)

Probability of Simple Events

The spinner at the right is spun once.
Find the probability:

P(F)

d.

(@]
Ul W = Q| = r-\|
c|*“ N| =

Page 735-b l




dasud) Eaaly) £ g8 g Jladal

B9 B ya sl e gl 51l oyl yugus @3
5| PNEN 4.7-33

P(D or G)

Probability of Simple Events

The spinner at the right is spun once.
Find the probability:

P(D or G)

d.

(@]
Ul W = V1| b= r—\|
c|\' N =

Page 735 -c l




dasud) Eaaly) £ g8 g Jladal

Bk Bye sletdl e 1 1ol o yall ya9as o3

Probability of Simple Events

The spinner at the right is spun once.

Find the probability: Jlei | a gl
P(vowel) P(A s E si 1)
a. 1

12
b. 7

10
c. 1

10
d 3

10

Page 735 -d l




Probability of Simple Events daiund) &laay) g g8 g Jlaial
There are six equally likely outcomes if a ]
number cube with sides labeled 1 through 6 is gf
rolled. Find the probability of not rolling a 6. g

Aoy ool 13) goluddly dlaiima Bl Cow d gl
6 &1 Q.celéjy‘dauu"%d‘jqﬂa‘.\&iga&o
6 e sl Cash adgi pue Jlais | uzgl

o
QU1 O

N =

Page 735 — Ex3 l




Probability of Simple Events dasud) Eaaly) £ g8 g Jladal

A bag contains 5 blue, 8 red, and 7 green .slmas 7sclpea8yeld); dmla; ol,S5 e dgds> Ggixs
marbles. A marble is  selected at random. Find  (,sS3 ¥ Jlei>| uamgl . 1 gdice S Ay 8,8 s | g

the probability the marble is not red. ) yas Bua 31 5,810
a. 0.4

b. 0.6

c. 0.35

d. 0.75

Page 735 -e



Theoretical and Experimental Probability

A coin is tossed 50 times, and it lands on picture 28
times. Find the experimental probability and the
theoretical probability of the coin landing on
picture.

. 1 . 14
d. experimental = 27 theoretical = 75

. 1 . 1
b. experimental = 27 theoretical = 0

. 1 .
C.  experimental = 0" theoretical =

. 14 .
d. experimental = 757 theoretical =

il g s AL Jlaiay)
28 Byguall de Cndg udy Bye 50 ddias A5 Aakad sl
il dalas &353.‘ ‘éjlé.d‘j L_.S‘:’,)"‘ﬁ‘ JLei| ..\.?-31 8 30

1 ”
——LSJH“ E=g..g)9.d\

1 1

= J = ||
1 1

= ] = 4
5= g AN ¢ o=
1 14

= ¢ = i
5= g B ¢ o=

Page 746 - Q1



Probability of Compound Events 48 sall dlany) Jlaial

For the following situation, find the sample AL Wleld Guadl e Ll i
space.

“A coin is tossed twice” "Crire doitro di debad o ld]f 5"
(Hint: use H for heads and T for tails) (LU T 9é9mll H potizal buelus)

a. HH,HT,TH, TT

b. HH,HT, TT
c. HT
d. HH,TT

Page 758 - Q1



Probability of Compound Events 48 sall dlany) Jlaial

For the following situation, find the sample AL Wleld Guadl e Ll i
space.
“A pair of brown or black sandals are available 9918 91 7 Slulilly s logad! 9T Lid] Joliwadl o 795 199"

in sizes 7, 8, or 9.”

a. brown, black,7,8,9 Q¢8¢7 ¢asulc i
b. brown 7, black 9 Q 2 gul (7
c. brown 7, brown 8, brown 9, black 7, black 8, black 9 9 3 gul (8 25ul (7 25l (9 o (8 (T o
d. brown 8, black 9 9 2gul (8

Page 758 — Q2



Probability of Compound Events 48 sall dlany) Jlaial

Khalaf spins a spinner with four equal sections, Jozs cuglude cilelnd danyi al Hlg0 joyd pguny als Ay
labeled A, B, C, and D, twice. If letter A is spun at Bpo A Lyt wic adgill @3 13).cnipe Dy Cs By A iy
least once, Khalaf wins. Otherwise, Khalifa wins. Use et | gl Adcls 39y U3 (s . als jody « JBY| e Busls
a list to find the sample space. Then find the gl 393
probability that Khalifa wins. i
a. 1

2
b. 1

4
c. 7

16
d 9

16

Page 758 - Q3



Probability of Compound Events 48 sall dlany) Jlaial

To win a carnival prize, you need to choose one of 3 o3 Glgal 3 (e g slias | e a3l JLas,S 8 835l 94l
doors labeled 1 through 3. Then you need to choose 9 yasol gl yal Bguio sLeis | clde a3l 03.3 JI 1 o0 L8
ahred, yte’IIEYI\{,tor;lI\olt:(:hbox t.beh.inf:l eta;‘chbtioor. Wh:alt is o B Bouisall & 35lall 3929 el Lo vy JS il 331
:’oir':)r:hi:dlc;gor za? e prize is in the blue or yellow §2 Ll Cals ool
a. 1

2
b. 1

3
c. 2

9
d. 7

9

Page 758 — Ex4



Probability of Compound Events 48 sall dlany) Jlaial

Hessa tossed 2 number cubes. She wins if she 795 oo clias 13 59459 oluel asSls sl das agas
rolls double sixes. Find a9l .6 e (S9ludia
P(Hessa wins) P(i=s jis+9
a. 1

6
b. 1

36
c. 1

3
d. 2

3

Page 759 - Q5



Probability of Compound Events 48 sall dlany) Jlaial

Jamal rolls a number cube, tosses a coin, and chooses Lislg dsdas i Aalad Lallg sluel case Aoy Jloa pody
a card from two cards marked A and B. If an even (295 suc y b 138. B 5 A izl (Mlesey (nibllay (oo @8y
number and heads appears, Jamal wins, no matter sz .lalas! @ & @Bladl oo Jaill aky (Jlax 59ds <Byge0s
which card is chosen. Otherwise Ismail wins. Find: ol . e Lasol 39y 203
P(Jamal wins) P(ea js)

al

glm §|>-n Q= W =

Page 759 -Q6



Simulations

A cereal company is placing one of eight different
trading cards in its boxes of cereal. If each card is
equally likely to appear in a box of cereal,
describe a model that could be used to simulate
the cards you would find in 15 boxes of cereal.

a. Toss 3 coins 15 times

Blslaall 7z 3l

Slblay Gled Juol (e Busly Lollay aidgr g Ayl pods
z2okl e o 130 Ll W) gl e § Aalike Al
OSees 23908 o aguad| Ale § ABlay S plas o yudll udi

g Aede 15 3 Lt G GlBlad) 5Ll dal il

3)A15@.\LAAJ§&E§&NS¢J

b. Spin a spinner with 8 equal sections(different colors) 10 times <) s 10 (&ilida ) $i) 4o bsia aludi 8 acsla (o B g

c. Tossacoins 15 times

d. Rolla number cube 15 times

8 15 Axidma i dakad (4

5.4 15 daei e da 2

Page 764 — Ex1



Simulations alsSlacal) Glt.u'

A restaurant is giving away 1 of 5 different toys Sy ae dalies Glall 5 Juol (0 Busly Ll palas Jany
with its children’s meals. If the toys are given out i Ll gde Jand CLaI¥l colS 136 Lend &I JLkY
randomly, describe a model that could be used to oo 6 ae aaii A1 Glad¥ SSLal delusin) (S 3gad
simulate which toys would be given with 6 Jlab¥l ol
children’s meals.

3. Toss 2 coins 6 times B4 6 Axiana 3 ghi adad ED 4

b. Spin a spinner with 5 equal sections(different colors) 6 times Gl o 6 (Adlida o) fl)ds glucia alud] 5 andla (o By g

c. Tossacoin 5 times 84 5 dida 385 dakad
d. Rollanumbercube5 times 54 5 e e da a

Page 764 —a



Fundamental Counting Principle Bl ) fagal)

Find the total number of outcomes from o il g2 A slael case Axpes @l sue Jlea! dagl
rolling a number cube with sides labeled 1-6 a2gl o3. NUMBERS 2l (0 85 5Lty 6 ) 1 000 plogY!
and choosing a letter from the word My jlias |y dizyos way 6 (e sluc¥| oSl Labes Jlois|

NUMBERS. Then find the probability of rolling
a 6 and choosing an M.

a. 13, 7.7%
b. 42, 2.4%
c. 12, 8.3%
d. 36, 2.8%

Page 781 — Ex2



Fundamental Counting Principle

all o) fagall

Find the number of different The Jeans Shop J-’H-O & aalizell jumtl Slgllhasy suc ugl

jeans available at The Jeans Shop. Waist
Then find the probability of size
randomly selecting a size 32 x 34

slim fit. Is it likely or unlikely that :g

the jeans would be chosen? 34
36
38

a. 45, 2.2%, very unlikely

b. 11, 9.1%, very unlikely

c. 45, 25%, unlikely

d. 11, 75%, likely

Length

30
32
34

Style ulia
Jau 5
Slim fit 30
bootcut 32
Loose fit 34
36
38

Page 781 — Ex3 l
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Fundamental Counting Principle

Two number cubes are rolled.
What is the probability that the
sum of the numbers on the cubes
is 12? How likely is it that the sum
would be 12?

a. about 3%, very unlikely
b. about 33%, unlikely
c. 75%, likely

d. 100%, certain

Page 781 -b l

all o) fagall

09Ss O Jleial L sluel 28k dops o
92 (sl Leple adgny cuddl cpadall ¢ 9azme
$12 g gezll 095G o Jlais | (gue Lo §12



Permutations Jaaluil)

A swimming event features 8 m aLicdl JSI OIS 13 . oao b 8 Ao Lwld St piay
i i Jya}l.l ‘LthW-LA Alasizma 4.4433 W CL"'“’

swimmers. If each swimmer has Ab i

an equally likely chance of '~ 0@ WS R s ,% o Yl L (S Jol @
finishing in the top two, what is laila  Shaima slaad U TSI & elasdg Jo¥I 38,01 8
the probability that Fatheya will r;im.  Ayesha Lile  dabls

be in first place and Shaima in

second place? Fatheya ~ Maha o doad

a. about 25%, unlikely
b. 75%, likely
c. about 2%, very unlikely

d. 100%, certain

Page 790 — Ex5 l




Permutations

Two different letters are randomly selected
from the letters in the word math. What is the
probability that the first letter selected is m

and the second letteris h?
d.

1

4
1
3

Page 790 - f
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Independent and Dependent Events Aol & g Ad8iial) Elaall

There are 4 oranges, 7 bananas, and 5 apples in a Sl A S adlw § olalas 5 g oiljge 7 9 ¥ LETn 4 g
fruit basket. Mansour selects a piece of fruit at dalad dgemma Hlis!| @ LWl gde LS (po dalad jgunin
random and then Mahmoud selects a piece of o a5 )L | ey o Jlais | gl L1 gdie 3 S0 oy

fruit at random. Find the probability that two
apples are chosen.
d.

O
- V1| =
ml‘“

- -
N|H 0\|H

Page 800 — Ex3



Independent and Dependent Events Aol & g Ad8iial) Elaall

There are 4 oranges, 7 bananas, and 5 apples in a Sl A S adlw § olalas 5 g oiljge 7 9 ¥ LETn 4 g
fruit basket. Mansour selects a piece of fruit at dalad dgemma Hlis!| @ LWl gde LS (po dalad jgunin
random and then Mahmoud selects a piece of o a5 )L | ey o Jlais | gl L1 gdie 3 S0 oy

fruit at random. Find

P(JL s
P(two bananas) ( )
a. 7

40
b. 5

16
c. 7

16
d 49

256

Page 800-b



Independent and Dependent Events Aol & g Ad8iial) Elaall

There are 4 oranges, 7 bananas, and 5 apples in a Sl A S adlw § olalas 5 g oiljge 7 9 ¥ LETn 4 g
fruit basket. Mansour selects a piece of fruit at dalad dgemma Hlis!| @ LWl gde LS (po dalad jgunin
random and then Mahmoud selects a piece of o a5 )L | ey o Jlais | gl L1 gdie 3 S0 oy

fruit at random. Find

P(4alai a7 4147 )

P(orange then apple) ( ~ )
a. b5
16
b 1
12
c. 1
4
d 1
16

Page 800 —-c¢



Make Predictions Cilad g1l £ )

The table shows the results m - cagall s pMlaiwl @l Jguazdl play

of a survey of seventh Bifreizlnime it Abagd! Al e @ bl
graders. Use the table to Education 14 dall 16 o Dladl suay gdall Jaasdl ausiul
predict how many students - Jlme @ Ol s s 400 Lol
. Medicine 11 A 11
out of 400 will enter the ol
education field. public service 6 Loladl 4oz 6
Sport 2 LprJl 2
a. 110
b. 48
c. 112
d. 14

Page 818 - Q4 |




Make Predictions Cilad g1l £ )

The table shows the results m ol - cagall s pMlaiwl @l Jguazdl play

seventh Entertainment Aawgill daledl  Awyie é EL“"”
) «,Mh.” ;4.:43.,4.& Jj-\qd‘ ‘a.\.‘:u..w|
e § O3l 0! <o 500 oo

of a survey of
graders. Use the table to Education 14 ozl 14
predict how many students

Medici 1 A 1
out of 500 will enter the e ' ]|
medicine field. public service 6 Loladl Aoz 6

Sport 2 LprJl 2
3. 110
b. 48
c. 112
d. 14

Page 818 - Q5 |




Make Predictions Cilad gil) o) jal

A survey found that 85% of people use emoticons @ AdLaai¥l jea,0l Ggeuiing poled¥l (o %85 o patul ming
on their instant messengers. Predict how many of & Wl 2450 ol (o s oS L e 2ol A9l sl ol
the 2,450 students at a school use emoticons. " ™, Adlaas¥l jga,ll Oganseiug dawgil] ddlall duyite
AA .\ o0

'

3. 368
b. 894

c. 1450
d. 2083

Page 817 — Ex3



Make Predictions

The circle graph shows the
results of a survey in which
children ages 8 to 12 were asked
whether they have a television in
their bedroom. Predict how
many out of 1,725 students
would not have a television in
their bedroom.

a. 550
b. 794
c. 932
d. 1213

TV's in the Bedroom

No TV's in
Bedroom

54%

TV'sin
Bedroom

46%

asill 43 & B KN 5 jeal

uﬁu_«

54%

Page 817 — Ex4 l
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Unbiased and Biased Samples

Determine whether each conclusion is valid.
Every tenth person who walks into a department
store is surveyed to determine his or her music
preference. Out of 150 customers, 70 stated that
they prefer rock music. The manager concludes that
about half of all customers prefer rock music.

3 jadall € ¢ 3 juadall Ciliwd)

N ei LZ,@.L« EmY‘ Q‘SLA |.5! Sl

plud¥l saaie yzie Jsuy paxd yile S gl Plhtal o
o 70 o Sleae 150 o oo dgd Al il iyl
i g O ) Fiiu) SIS Gasd! Gsliasy wels
AS IS gl iy sMoall e s

a. The conclusion is valid. This is an unbiased systematic random sample. 3 s & daliile 44) gde e sda  aulu zLEILY)

b. The conclusion is valid. This is an unbiased simple random sample. Biada i Ansuy dyil pde Ae 0da pnlu pliLiY)
c. The conclusion is not valid. This is a biased convenience sample. 5jpaia Aalia die sda aalu e Fliiad

d. The conclusion is not valid. This is a biased voluntary response sample. 5j:ia 4 gh Lladia) 4e oda ailu & il

Page 825 — Ex2



Unbiased and Biased Samples

Determine whether each conclusion is valid.
The customers of a music store are
surveyed to determine their favorite
leisure time activity. The results are
shown in the graph. The store manager
concludes that most people prefer to
listen to music in their leisure time.

53atall 4@ g 5 uadall cilisl)

I;[th!;gifois Other u\ﬁm u&-],/-u}A e eHlas L"ST) &Mlai/—o‘ (QS
"6 LA & Bl das $hall wlégl 3 Juaall edolid
el o el ue grital Gl Juted!
g sl ] planadl Gslias, elxadl

Leisure Time Activities
§1 AN cldgl b il

Listening to Music
s gall ) £ laiay)
%85

a. The conclusion is valid. This is an unbiased systematic random sample. 3 s & daliile 44) gde e sda  aulu LY

b. The conclusion is valid. This is an unbiased simple random sample.

c. The conclusion is not valid. This is a biased convenience sample.

d. The conclusion is not valid. This is a biased voluntary response sample. 5j:ia 4 gh Lladia) 4e oda ailu & il

Page 825 — Ex2



Unbiased and Biased Samples

Determine whether each conclusion is valid.

A radio station asks its listeners to indicate their
preference for one of two candidates in an upcoming
election. Seventy-two percent of the listeners who
responded preferred candidate A, so the radio
station announced that candidate A would win the
election. Is the conclusion valid? Justify your answer.

3 jadall € ¢ 3 juadall Ciliwd)

N ol G 7 bl 8 Lo 13 s

oo d>l9d adiaas ) BLEY Lenatus (10 e ld] Az ool
8 sy oLl olel Aaslall cblam¥) § camdll o ol
QLA mdell qliiais e sl ol (el cpo 22l
L) Seiia A iyl of Al 3y Al ciled

a. The conclusion is valid. This is an unbiased systematic random sample 3j:aie & daliiie 43 pdie dle oda  aube I

b. The conclusion is valid. This is an unbiased simple random sample B maia b dlayn 4yl gde die ol anlu FLLLY)
c. The conclusion is not valid. This is a biased convenience sample 8 jaadia dalie die o4 anbu y& glilia

d. The conclusion is not valid. This is a biased voluntary response sample 3 :aia 4e gh 4jlaiad A oda anbs yé gLkl

Page 825 -a



Unbiased and Biased Samples

A store sells 3 types of pants: jeans,
capris, and cargos. The store workers
survey 50 customers at random
about their favorite type of pants.
The survey responses are indicated at
the right. If 450 pairs of pants are
ordered, how many should be jeans?

a. 250
b. 135
c. 90

d. 225

The Arabic text is different from
the translated text in English

Type = Number £ o)

Jeans 25 &S
Capris 15 dp,e
Cargos 10 &Sy !
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Unbiased and Biased Samples

5 jaiall 4 g8 adall cilisal)

The Arabic text is different from ) .
Husam is trying to decide which of three the translated text in English algall ceda (pa Bl suomy of alus Jolom

golf courses is the best. He randomly
surveyed people at a sports store and

recorded the results in the table. Is the ‘/MsPerneTri 10 10
sample method valid? If so, suppose . pines g g
Husam surveyed 150 more people. How

many people would be expected to vote Rolling Meadows 7 7

for Rolling Meadows?

a. Thisis asimple random sample. So, the sample is valid; 42 people.

b. Thesample is not valid. This is a biased, convenience sample.

c. Thisis a systematic random sample. So, the sample is valid; 60 people.

d. Thesample is not valid. This is a biased, voluntary response sample.

Page 826 - Q1

ool ¥l oyl allaiul 1ad . Jadlll g B

nody & B Jmas sl sl oo Wl sde
O 13] Sandlo dinall pesr 4dsyb Ja .Jguz!

Bl 150 iy adlais! aluas o (ooidl (U8 pa¥
coaly OF a3sill olxdl¥l sue oS a1 Laxs
¢ C calll dlal cogiatlly I909d)

Ladd 42 datia Lial) 1Y) Aasy 40 gde Aie o2a
B padie dalie die Aalla p& ddal) oda
Ladd 60 cdatia Liall 1Y) Aakiite 40 gie Al oda
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Unbiased and Biased Samples 5 jpadiall S 9 5 juadal) cilial)

To find how much money the average Emirati family wupd dawgill asl LYl 8yl Laan Gl Jlga¥l oz slms¥
spends to cool their home, 100 families in Sharjah are sl (e 85 .11 gdee 43,La01 3 5yl 100 (T, pMaiinl 05 qilie
randomly surveyed. Of the families, 85 said that they oLl il ol e By 0y 75 cyo JBT (gdiis oge! 16008

spend less than AED 75 per month on cc.)oli-ng. T!\e 3 sl e Gays 75 oo U3 3455 dlasogikl 451 ,Le¥1 5yadll o
researcher concluded that the average Emirati family -

spends less than AED 75 on cooling per month. Is the ke g L] da el
conclusion valid?

a. Thisis a simple random sample. So, the sample is valid. Aalia dial) 13) Ay 40l e i ol
b. Thesample is not valid. This is a biased, convenience sample. 5 maka dalia e dalla 8 And) ola
c. Thisis a systematic random sample. So, the sample is valid. Aalla Aial) 13 Aadiiie 40 gl die o3
d. Thesampleis not valid. This is a biased, voluntary response sample. Ao gh Llaiuf die dalla pf dial) oda
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Misleading Graphs and Statistics Alaal) ciplany) g daiLal) @il

Based on the graphs, which of the following sentences is incorrect?

Spamio il Al Sl 6l Ailed! pganydl e 10atas

Spring Event Tickets - &l dalad 8135 Spring Event Tickets - gl dallad S\
16 10
1- 1
) o6
w 3 w
< <L,
2, R
o T 2
0 | | | || || 0 | || || || -
06 07 08 09 10 06 07 08 09 10
@ Year - u‘ @ Year - :\.a'm.“

The graphs show the same data. ULl (el Aild) cadliatl) jedas

The graphs show different data. SR Uil Al ediall) jedas

Graph A uses an intervals of 4. A O andieg A Al B

Graph B uses an intervals of 2. 2 (e B andiey B Al Jha
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Misleading Graphs and Statistics Alaal) ciplany) g daiLal) @il
Which graph appears to show a sharper increase in price? adl B> §AST B33 il il gty il Jukes 6

Spring Event Tickets - &l dalad 8135 Spring Event Tickets - gl dallad S\
16 10

=
N

Price(AED)_awdl
Price(AED)_ sl

07 06 07 10
@ Year - 4dud) @ Year - )

a. A A
b. B B
c. AandB Laa IS
d. neither AnorB Lagia i Gt
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Misleading Graphs and Statistics

Which graph might the
Student Council use to show
that while ticket prices have
risen, the increase is not
significant?

a. A
b. B
c. AandB

d. neitherAnorB

Alaal) lslaay g duibull cdliail)

Spring Event Tickets - &u ! 4lad 8135
16

=
N

8

Price(AED)_sdl

4

06 07 10
@ Year - 4dud)

0 | | | | ||
08 09

10

Price(AED)_d!
o N - 3] [+ ]

Spring Event Tickets - &u il 4allad S\
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Misleading Graphs and Statistics

The line graphs show Eggg

monthly profits of a 3 it /
company from October to § 15',100

March. Which graph < 15,000

suggests that the business ‘§ 14,500

is extremely profitable? Is & 44000

this a valid conclusion? 0 t

a. GraphA, Itis avalid conclusion.
b. GraphB, Itis avalid conclusion.
c. GraphA, itis not avalid conclusion.

d. Graph B, itis nota valid conclusion.

Aol cilelaal) g duilual) coiail)

17,000
16,500

e 4l i Gle Jites gl

Ja §paadl Bus @ ST Baly

16,000
15,500

15,000
14,500

Profit(AED) 7=

14,000 J—
T

Page 836 —a
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Misleading Graphs and Statistics Alaal) cislasyl g Axibal) @il

Park Roller Coaster Heights o Jilally Ay pual) ) judall) o)

An amusement park boasts Jebadl lasgin ols A Agde yoeiss

) - A ARV 4330 5asY) - . ) )
that the average height of Coaster Height(m) (et f’d e 51 sa daudl Lelhlady olidl
their roller coasters is 51 Viper 32 32 Y Al Mg 13 0950 ol (Say 4uS 75
meters Explain how this Monster 40 40 i ) 4l
might be misleading. Red Zip 35 35 TR

Tornado 110 110 Dbac ) Al
Riptide 38 38 Olbal) 4l

a the average used by the park was the mean. This measure is much greater than most of the heights listed
TS el )Y aliee (e S ST ga s beadl Lo giall 8 o i) dediial (530) Ja siall

b the average used by the park was the median. This measure is close to most of the heights listed
T s Sl e i ) adine e s sa s Jas gl om0 kel 4eddind (s o sl

C the average used by the park was the mean. This measure is much smaller than most of the heights listed
TSl el )Y aliea (e 58K J1 sa s bl Ja il s o kel dediiid (5311 Jass siall

d the average used by the park was the mean. This measure is close to most of the heights listed
TSl el ) aline (e 8 sh s dbeall o i) 5 o i) dediind (s3] Jaus siall
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Misleading Graphs and Statistics

Find the mean, median, and
mode of the sofa prices
shown in the table. Which
measurement might be
misleading in describing the
average cost of a sofa?

Sofa Style Cost dalal)
leather AED 1700 AED 1700
reclining AED 1400 AED 1400
DIY assembly AED 350 AED 350
sectional AED 1600 AED 1600
Micro-fiber AED 1400 AED 1400

Aol cilelaal) g duilual) coiail)

A< Y apana
Al
(il
A S il e sene
Aatasl

dagall LUy

mean: AED 1,400; median: AED 1,400; mode: AED 1,400. The mean would be misleading
Slias Tas ol 055 38 aa 53 1400 :J)siall can 33 1400 s sl caa 53 1400 a5l

b mean: AED 1,400; median: AED 1,290; mode: AED 1,400. The median would be misleading
T e sl 5S5 8aa 53 1400 ) sl can 52 1290 das sl can 2 1400 sl

mean: AED 1,400; median: AED 1,400; mode: AED 1,290. The mode would be misleading
Sllias )il (5585 38 a8 50 1290 1d)siall can 53 1400 tdass sl caa 52 1400 :dan 5l

d mean: AED 1,290; median: AED 1,400; mode: AED 1,400. The mean would be misleading
T Sl bl (555 3 a8 50 1400 ) sl caa 50 1400 a5l caa 50 1290 el
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Compare Populations

The double dot plot below
shows the daily high
temperatures for two cities for
thirteen days. Which center
measures is most appropriate to
compare temperatures?

a. Mmean
b. median
c. Mmode

Daily High Temperatures( €)aai sl il 5 5 al cla 0

[ ]
[ ] [ ] [ ] [ ] [ ]

] ] ] [ ] [ ] [ ] [ ]
A= A
[ ]

[ ] L] L ] ® L4
L [ ] [ ] ] ® L L
= ciy B
255 26 265 27 275 28 285 29 205 30 305

d. Theinformation is not enough so, we can't compare.

Page 851 — Ex2
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Compare Populations duilaay) cile gaaal) 45 \da

Daily High Temperatures( C)aaii jall &5l 5 ) all la ) i i
The double dot plot below Lozl LLUL zeapll Gledl oyl o

shows the daily high Bl il Aogdl elaadl Bylymdl Cilays

[ ]
temperatures for two cities for e ¢ o o o o o A A Lot ¢l g Bpde A
thirteen days. Which of the L B B B B B B B e EESEN
following sentences is incorrect?
® ® : L] L
[ ] [ ] [ ] L ] L ] [ ] [
e ciyB
255 26 265 27 275 28 285 29 295 30 305
a. Mmean of city B is b greater than mean of City A. CAA luadl Bl e St B Adaall olual) Jaw gl
b. median of city B is 28.5 28.5 s B dial) g
c. mean of city Ais 28.5 28.5 2 A Al by
d. Dboth dot plots are symmetric. Ol deanall JalBIIL L) o Sliatl)
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Compare Populations dailaal) cile ganall 43 jlia
Daily High Temperatures( €)aai sl il 5 5 al cla 0 i .
The double dot plot below daezll bLUL zoadl Gledl puoyd! e

shows the daily high . o S e W
temperatures for two cities for e o o o o o o Samio AW Jozdl g Lo gy Bydie 35
thirteen days. Which of the T Ciy AL
following sentences is correct?
[ ] [ ] : L] L
[ ] [ [ o L ] [ [

~—t—t—t—F—+——F—F—F—+ ciyB i

255 26 265 27 275 28 285 29 295 30 305
a. Mmean absolute deviation of city A is 0.69 0.69 & A Ahaall Glaall il Ayl Jaw gia
b. mean absolute deviation of city Ais 9 9 s A diaall glhal) G AV Jaw gie
c. mean of city Ais 28.5 28.5 A daall g
d. both dot plots are not symmetric. (P 8 Aranal) BRI Gldlbad) (DAL
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Compare Populations duilaay) cile gaaal) 45 \da

The double box plot shows the daily participants for two zip line companies <Ex& (e (ASY aegd! SHLad! zoo3d ! Gl (5 Goiuall lalaks peday
for one month. Which variation measures is most appropriate to compare (wicgozll @lEL ceud¥ g cplad! uulis éi g e Bl @YY bghas

populations? . € s S|
Number of Daily Participants - L (S Ll 2 oriplia)

Qimma Company

L) iS4 . + + +—o *
Tamiuz Company

Jeadll A8

- ] l ] l ] ] l ] ] ] l l -
| | | | | | | | I

1
20 30 40 50 60 70 80 90 100 110 120 130

a. median b gl
b. mean absolute deviation Gllaall ) ey Ja gia
c. Interquartile range A gl
d. Theinformation is not enough so, we can't compare. 4 i) aaindd ¥ 1N 48S e il ghaal)
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Compare Populations duilaay) cile gaaal) 45 \da

The double box plot shows the daily participants for two zip line companies <Ex& (e (ASY aegd! SHLad! zoo3d ! Gl (5 Goiuall lalaks peday
for one month. Which of the following sentences is incorrect? Flmizio i Adldl ozl éi g e Bl 33NN b glas

Number of Daily Participants - Ly (S Ll s
Qimma Company
L 45,4 ¢ + + +_’ *
Tamiuz Company
Jatll A8

20 30 40 50 60 70 80 90 100_110 120 130

a. median for Tamiuz company is 50 50 52 Jpalll S pld Jau ol
b. interquartile range for Qimma company is 30 30 52 dalll A il L2 gaall
c. only one set of datais symmetric Alilatia CiliLl) e gana (3a Jadh Bl g
d. median for Qimmais smaller than median for Tamiuz Sl AS i Lo g (s JB1 Aal) AS i a9
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Compare Populations duilaay) cile gaaal) 45 \da
Number of E-mails in Inbox

The double dot plot shows the Al (Godia A Jilu ) dae bLaidls zoa3l! Giled! gl s
number of new E-mails in each of o o wdl bl sue daexll
Abdulrahman's and Tarek's inboxes e . 2 E E E Abdulrah Soiie § Bagagll g ASIYI
for sixteen days. Which of the |<€<—4—4—4+—t+—4+—t+—t+—t+—t+—+—> o:l;j‘gan oo I3 ol Baylell diluyll
following sentences is correct? o o e ’ e B Bud Gylog e Jlie

: : : : : e o @ Tarek B gS‘ Lass

<+ttt
28 29 30 31 32 33 34 35 36 37 38

a. for Abdulrahman: median= 35.5, interquartile range=3 3 = sl (35,5 =huasll 1as ol duadlly
b. for Tareq: median= 32, interquartile range= 2.5 2.5 =2 ) saal) (32 =lasu gl 1 Ul ity
c. for Abdulrahman: median= 35.5, interquartile range= 2.5 2.5 = ) g2l (35,5 =huagll es et dudlly
d. for Tareq: median= 33, interquartile range= 4 4 =2 ) s34l (33 =hasegll 13l dpadlly
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Compare Populations

The double dot plot shows Ali's and
Omar's race times for a five-
kilometer race. Compare the centers
and variations of the two
populations. Which runner is more
likely to run a faster race?

Race Times (min) Gl <8 gf

D S B e e e e e e
T

a. for Ali: median= 18, interquartile range= 3

b. for Omar: median= 17, interquartile range=4

c. for Ali: median=17, interquartile range= 2

d. for Omar: median= 18, interquartile range= 4

Page 853 —-c¢

®  Omar

<+ttt .
1314 1516 17 18 19 20 21 22 23

duilaay) cile gaaal) 45 \da
zookl Gledl el da

Gleadl Sl anezll Ll

Sl @ oy o 2 Lol
Sdomeso At Jozd! éi

3 =2l gl (18 =hasugll 1 dpdlly
4 =2 ) saal) 1T Shagll 1 enl Audlly
2 = 2l saal) (17 =hswgll 1 dpudlly

4 =2 ) s2al) 18 =l gl) s e duudlly



